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Sort out the mu ‘rab (declinable) from the
mabni (indeclinable).
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What are the primary endings of the noun?

What are the secondary endings in the
following groups:

a) The Five Nouns?
b) The Sound Masculine Plural?

¢) The Dual?

What is the jarr-ending in the Diptote?

What is the nasb-ending in the Sound
Feminine Plural?
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Use a magsiir noun in three sentences making it marfii * in the first, mansib in the second and

majrir in the third.
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Use a mangiis noun with the ya’ in three sentences making it marfii* in the first, mansiib in the

second and majrir in the third.
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Use a mangiis noun without the ya’ in three sentences making it marfii* in the first, mansih in the

second and majrir in the third.
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Sort out the mu ‘rab from the mabni.
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What are the primary endings in the mudari*? / )
¢ LeaA JeVl s Eesdll CIEY) Sl G - v
What are the secondary endings in the Five Forms? "
¢ e Jxd) s Eesd o3a B L - ¢
What is the jazm-ending in the ndgis verb? /

v @ . . C:/ {/ T~ -
?ﬂu\d@\vgcﬂwmw{»—o
What is the raf*-ending in the ndgis verb?

-~ }0./ - @ . . °o ):/ 1~ -
?M\CM\ﬂU\M\@M\MWB—W
What is the nash-ending in the ndqis verb ending in alif?

¢ it ) b e e L

i
<
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Answer the following questions.
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Learn these examples of waw al-hal.
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Write in blue the waw al-‘atf (waw meaning and), md in green the waw al-hal.
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Name every waw in the following sentence. .
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Complete each of the tollowm‘g, sentences using a hal clause (waw + nominal sentence).
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What does :};J signify in each of the following sentences?
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Give an example trom the lesson of the madr used to express a wish.
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Form sentences on the patt;rn of the exam;)le using '|» and the extra min.
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What is the opposite of *, 21 ?

Give the madr of each of the following verbs.

Give the singular of each of the following nouns.

Give the plural of each of the following nouns.
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Answer the following questions.
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Point out the J&L&J\ b in tln following sentences.
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Change the following verbs in the mddi to I)clbbl\L voice.
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Change the following verbs i m the mudari’
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Read the examples, and then change the following sentences to passive voice.
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Learn how to change the sentence to passive voice when the object (4 J =ie) is a pronoun.
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Write down all the sentences in the passive voice occurring in the lesson and point out the 53U

J.guﬂ in each of them.
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Use U before the following proper names.
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Write the mansiib form of each of the following nouns.
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Point out all the mansib forms occurring in the main lesson.
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Learn the use of’tgjajig meaning ‘he can’.
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Learn the use of Gly ... G meaning “either ... or’.
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What does ju\:J\ /‘_53;\18 @w\ =l mean? Is 2 5Jl masculine or feminine? How did you find

out its gender?
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Write the muddri* of each of these verbs.
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Use each of the following words in a sentence.
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Answer the following questions.
155 O :;{KLS\ 3L (1)
¢ Ll 1 6@ KRR ND
wmx J U6 5y § 291 B sl i ()
¢z Al Lo i sl Jn o 235 J sl o (o)

Learn the formation of the ism al-fail.
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Point out all the ismu/-fa il forms occurring in the main lesson and give the madi and mudari* of the
verb from which they are derived.
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Form ism al-fa il from each of the following verbs.
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Point out S le\ll 2L2d in the following sentences.
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Learn the formation of the )i,u.)\ ;,_,4\
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Point out all the ismul maf*il forms occurring in the main lesson and give the mdadi and mudari* of
the verb from which they are derived.
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Point out the s\l 2Lu%d and the -, wa sLsTin the following sentences.
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Learn the hijazi md, and then rewrite th«, followmo senlenees using this md as shown in the example.
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Answer the following questions. .5 31 ALMAI\ u’ v}\ -~ 4
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Form the passive voice from the follownw ajwaf verbs as shown in the examples.
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Point out the ajwaf verbs in the following sentences.
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Form the |\l ! from the following muda*‘af verbs as shown in the example.
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Form the J,g\,i}\ (’LM\ from the following ajwaf wawi verbs as shown in the example.
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Form the Jg\.‘d\ (i.w\ from the following ajwaf va'c verbs as ;;hown in the example.
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Form the Jgu}\ (’,M\ from the following ndgqis wawr verb/s as shown in the example.
il (e e g B5
.............................................................................................. PERREY
...... saxg e

"0/ i
e g
- "‘? OEC"{ W el .,V? = - . o B og /;- &i:
Form the Jeldl) (’l_w\ from the following nagis va 7 verbs as shown in the example.
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Form the Jg«\.c’d% ;;.M\ from each of the following verbs and mention its original form, and other

particulars as shown in the example.
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Form the J saioll (’.M\ from the tollowing ajwaf wawi verbs as shown in the example.
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Form the Jsxaddl aol from the following ajwaf va 7 verbs as shown in the example.
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Form the 5,.,%.&.3\ | from the following ndgis wawr verbs as shown in the example.
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Form the J jia'.di ! from the following ndgis va'7 verbs as shown in the example.
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Form the J }i.ad\ ;,M\ from each of the following verbs and mention its original form, and other

particulars as shown in the example.
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Point out all the examples of |l , \andJ xao)l Al occurring in the main lesson, and mention
! = e &

the verb from which Ldbh of them is derived, and also the type of this verb.
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Point out  Je Ll ;}'3”\ / J ;;«LJ\ ;_w\ in each of the following sentences, and mention its original

form, the verb from which it is derived, and the type of the verb.
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Learn the use of the fol]owing velbs )
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Answer the following questions.
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Point out the nouns of time and place in the following passages mentioning the pattern of each of
them, and the verb from which it has bcen derived.
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Point out the nouns of time and place occurring in the main lesson mentioning the pattern of each
of them, and the verb from which it has been derived.
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Answer the following questions.
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Form the nouns of instrument on the pattern of mif*al-un from the tollowing verbs.
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Form the nouns of instrument on the pattern of mif al-un from the following verbs.
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Form the nouns of instrument on the pattern of mif*alat-un from the following verbs.
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Point out the nouns of instrument in the 10110W ing a/mcllrh and mentmn the pattel n 01‘ each of them.
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Point out the nouns of instrument occurring in the main lesson and mention the pattern of each of
them.
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Mention the name of each of the following derivatives.
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Mention the plural of each of the following nouns.
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Answer the Tollowing questions.
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Mention three examples of each of the seven categories of the ma ‘rifah.
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Mention all the nakirah nouns occurring in the main lesson.
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Mention all the ma ‘rifah nouns occurring in the main lesson and specity the category of each of
them.
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Which of these two words has become ma ‘rifuh because of the nida’: 3 9 b / :’J.H.a L2
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Read the following hadith and point out the nakirah and ma rifah nouns occurring in it, and
specity the category of each of the ma ‘rifah nouns.

06 ¢ ol 0p25 g B oo a8 Sl S ek T s

6&5/ "“Mvﬂyv)ow,swx@éhzw Jb?\.@us.&\\»

el 6,5 1) é-wu B ) w s ,a 35 o

Change each of the following nakirah nouns to ma rifah using the method mentioned in front of it.

“WY\J ............................................ By (1)
by gy 525 (%)
RS 3l (1)
Point out the following in the main lesson J).,LS\ wa\ -

w1 TRy T s < & - v
55 J) Slasd) Gy b as I SLadl g?)bf(\)

Two examples of mudlit with ma rifah nouns as mudaf ilavhi, and two examples of mudaf
with nakirah nouns as mudadaf ilavhi.
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The students practice the two following language drills:
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Answer the following questions.
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Point out the dual and the sound masculine plural nouns occurring in the main Lesson whose niin
has been omitted.
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Read and understand the following examples of the dual and the sound masculine plural nouns
whose niin has been omitted.
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Read the following examples, and then write the figures in words.
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There are groups of two words. Make the first mudaf, and the second mudaf ilayhi as shown in
the example.
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Make each of the following words muddf and the pronoun of the first person singular its mudaf

ilayhi as shown in the example.
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Change the word printed in red in each of the following sentences to dual as shown in the example.
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Make the word printed in red in each of the following sentences muddf and the pronoun of the first
person singular its muddf ilavhi as shown in the example.
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Answer the following questions using MS or LS.
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Fill in the blank in cach of the following sentences with the suitable demonstrative pronoun
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Give the mudari* of each of the following verbs.
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Give the plural of each of the following nouns.
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Give the singular of each of the following nouns.
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Point out all the nominal sentences occurring in the main lesson, and specity the type of the
first element in each of them.
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Point out all the verbal sentences occurring in the main lesson, and specify the type of the

first element in each ol them.
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Use each of the following incomplete verbs in a sentence.
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Use each of the following nouns in a sentence as mubtada .
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Use the word :fujd,d\ as mubtada’ in five sentences, the khabar being a mufrad in the first, a zarf'in the

second, a prepositional phrase in the third, a verbal sentence in the fourth, and a nominal sentence in the
tifth.
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Give three sentences the khabar in each being a zarf.
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Use each of the following nouns in a sentence as mubtada’ its khabar being a nominal sentence.
Make the noun given in brackets the mubtada’ of this nominal sentence.
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Point out all the nominal sentences occurring in the main lesson in each of which the mubtada’ has
been omitted.
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Point out all the nominal sentences occurring in the main lesson, and specify the type of khabar in
each of them.

2
. o . 1:/ 2 o~ - [ ,:/
LA I (R B R 4| el ]

Y



s (ol &33\5\ (V1)

W ° Coi | . oA
C;/)» \J q\ =) J‘,QJ \.:«,Mww g gi«w\‘
;,% é.» 8 M;:“I\J
(NP w@ o el 2o %
.:}.}Y\jz& <-m i 25 ) ga A ()
[ 7 4".' Z 8 “f,/. o R a5 8 -

- z . 5. - -
Ay 555 gl 05
n/l o AR m

B, A

z . 5. -
), S Tzl o)
rd - g
&/0 ] -0 .
-;\-Lv-. A

~

@

s

e ) 6%

7,
B ¥ 7

¢.uﬁ

L

CL@_W\M\,,J\%Q 5 @j,u ¢SSl ia ()
.3:9&\3,@ p s B WS s s 015 (V)

2 °%
4 SALon i)

o

@ %

Y ’:'l‘
"N
L

4¢



e ¢
L._SQ\-;‘M :jﬂi\J
JEUNGRY

A Ui
(Y)

-
: / o &
/-3 g Iy
4\‘,,_ c\l‘,;- 4_90
J‘Q' S

s34

.U\ (V)

(:)jo/. 1
by Al &
Ao PV

.ﬁ.ki.j‘ .X...C«/o J\A—S
rd - .
: :'fj ‘
(V)

N /0/
p |- i
] & M (1)

Cor dos 3
- Sedly dis
z : 4

.,°: s
‘ /w//ﬁ
A Lghaa 3 (g)

..f o; "’f./o A
A.Ls
OK\.& w
s ; BUAI
\(o
5 )

q0




2

e W 20 (1Y)
& L)
?}}few

° 55

° s L <. - P _ .74; o_

o\
— 0\

Eoiy o8, ;w i ds\ Yy c;\aBU\ 2y Sl
4:-9\.35\ ey 46\3\ BN gla
3&@)3@?
(U DB 108 O} ¢ el st o el Sl
.C;:'a\.d\ ol o\ sz.)a wlo ub

wl-’“‘ o ,\U\
¢ Jlx Sals
RNV Cuv
?Euf\ii;mg;;g};w;ﬁaédsopuw
wusx J‘

¢ 5N, 2

oi

A\N

a1

:ﬂgjj\

F8|VES

s Il

Ay



MJU\J) (\Y)
m}bwv@rﬁw@@ AN
?5@\\3;;3@?5{;5 rle

- o~

.5;;&4;;3\ L B3y 0

B iy ol ) g6 aBT iz T s
¢ L S

Nl

U5 e e s

L el el I cemz il

rd
3

|

Eoiad .

o

—— P i _ s
. QY\ ‘dfva\ df* \L?"\
Answer the following questions.

o Jey = ()

(5 g g i b s )

¢ 155l B35 sy ol JJ\JQJ,EI(.J(V)
¢ sl ik g B ol (o)

¢ SaNIE 5B F (o)

v



Fe g8 550 ()

A T A
ad M”’J\ %

j'/{“:\; :29‘}4?‘ ;_f,u‘\’ 5‘3% SM\ v\“,_m “\_,«,;)ze ((/(;.E» \:2:; .((;U‘fy\;:j\ (a:_, ;»;\M»ﬁ‘?»
ﬁo/. //of .. NP

5
ol by L 1 E A els B T kel ST 235 ()

(O Dby L ad e S paddl e Sls 15 e Ziia (o)

e Ba b ytlall 2
J»@Qjﬂ\gwww d}b«w»quf;w iji, =z

T

z

{f‘/ ﬁ// - o 8% -~ _

L e i ol Gob by B8 W ode G AT 08 s
e JRh

J= ON‘ P OISG Sl wan G G ol 2 ¥ i

o -~

.

‘w
.
z

AA



Joua & ng\ 51.@ lo QL lea «Y» Ga ¢ i o7 :j).:; oYl

o -

- A

LS’{""’A\ :'swocd&» J}b «w»u &Mwub\ }" g_,:»;-

z

L0

w

s @;LM o g pisd B
I okl &5 u.l.&d;\.«.ndjla)\ S DL ()
o
ﬂjmmw sl 1) SBkS L S Gl
d)j)d\ U.C« g,.:\.; «J.ﬁ,a_:j c/cuj 63}5» :"J\.;:L{j\ \.:;b
Sl j..cz,.,a «%jb» U 3&4))9 *} 95\ cy\g}la sods o ciii,p (Y)

A0

k&g_,.:\.:

c\.;.ﬁ_g_‘.f_j;.;- 3\ cg)\gﬂ\ 39

°

u}hﬂ u-° G «lday Ga . C 31\ s Lis o co)LA!\ 21 (Y)
G Gh ,@jxf Bl U .o &) 310 @ _,& s 0al (2)
JJJA\ u’ LG olsis «cu\,aj

19



e B S (Y
. ¥ - - . /“;l pd j. @ . - °
OB QLI Byl e eyl (5 s -
Point out the zurif occurring in the main lesson, and specify whether lhuy are zurif zamdn or makan.
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Point out the mabni zuriif occurring in the main lesson.

Point out in the main lesson words which are not :1//11/ but are lunulmmng, as zur u/
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Point out the zuriif in the loll(mmg sentences, and specity whether they are zurif zamdan or makan.
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Point out the zurif in the following ayah, and specify whether they are zur 11]‘—,(1111(117 or zuriif makan.

7/",

iy & 1 O g (w\»\ B ()

/? i

QAR I \J\M \’w.« rb.ajs 9 B (V)
(orps) e )\é-ﬁ) 3U ~.5°j3 “—’)93 d <) J\ﬂ 2 (Y)

(veiols)) @ \J& m 13s ui.;.; Lg).,\; s & (9)

2.0 .

el 6 1 18mey s ("“”“") Y f_‘:,\_w 253 35 5 (o)



e B 25 (4
Jj.laj\u:c()b J..\.CL@_AAOJ\.&- J{szm&vu%uu-‘\

Give three sentences in each of which a number functions as a -a/f
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Give three sentences in each of which a demonstrative pronoun (9)\...:} V.w\ ) functions as a zarf.
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Complete the following sentences.
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General questions.

o

BN JWV Lt o -

Give the mudari’ of each of the following verbs.
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Use each of the following words in a sentence.
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Answer the following questions.
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Point out all the instances of Y| (f)! occurring in the main lesson.
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Point out the /Gm al-amr in each of the following examples, and vocalize it correctly.
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Write each of the following verbs with ldm al-amr, and vocalize the /am and the verb correctly.
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Give five sentences containing lam al-amr.
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Read the tollowing examples of the /d al-néhivah, and vocalize the verb following it in each of
them.
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Fill in the blank in each of the following sentences with the verb given in brackets preceded by /a
al-nahivah, and vocalize the verb correctly.
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General questions.

Write the plural of each of the following nouns.
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Each of the following examples contains two sentences. Combine them using the lam al-amr as
explained in the first example, and make the necessary chdnécs
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General questions.

Write the mudari* ot each of the following verbs.
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Write the muddri® of each of the following verbs.

Give the plural of each of the following nouns.
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Explanation of certain Grammatical Terms & Symbols

I'd
1. Fathah is the vowel sigh (=== ) denoting “a”.

€699
1.

2. Kasrah is the vowel sign (7) denoting

2
3. Dammabh is the vowel sign (=) denoting “u”.

°
4. Sukiin is the sign (=== ) denoting absence of a vowel.

w
5. Shaddah is the sign (== ) denoting doubling of the letter.

“a” is long “a” as in father.

= 1331
1 1

is long “1” as in machine.

“0” is long “u” as in rule.



LESSON 1

In this lesson we learn the following:

a) The Declension of Nouns, and
b) The Moods of Verbs.

(A) Declension of Nouns

We have already seen in Parts One and Two that most Arabic nouns are declinable, i.e., they indicate their
function in the sentence by their endings.
These endings are three. They are:

- A
1) The dammah to indicate the nominative case (ﬁcéj,s\). A noun with this ending is called é g
. . . . g o @ . . . . R 2 9,
2) The fathah to indicate the accusative case (g',waﬂ\). A noun with this ending is called o s.2:s.

3) The kasrah to indicate the genitive case (isgj\). A noun with this ending is called j jj.;-.n

Here is an example:

. :,,uj.)\,d\ J.;./: ‘The teacher entered.’
Here al-mudarris-u is éj;f: because it is the /i i/ (:}:«\_d\)
, ;fj.u.&\ é,ﬂ.w ‘I asked the teacher.’
Here al-mudarris-a is < j.ja:a because it is the object (5\4 3 jx.uj\)
s u»jv\,d\ gj\;’.& oJda  “This is the teacher’s car.’
Here al-mudarris-i is j Jj.;n; because it is mudaf ilayhi (4/\.\5} &Lei)
Now these endings (dammah, fathah and kasrah) are called the Primary Endings
GELY Ol 2N BLE),
There are other/ endings also which are called the Secondary Endings
(sl DAY ELSE),
The following/ groups of nouns have these endings:
a) The Sound Feminine Plural (;,.é\.w\ gfj}d\ ﬂc,l;-)
Only the nasbh-ending is differgnt in this group. It takes kasrah instead of fathah, e.g.:
. o.:J\.Mju\.o—s\ 3 JERWN) gfu “The headmistress asked the female teachers.’

Here al-mudarrisat-i takes kasrah instead of fathah because it is sound feminine plural.
Note that in this group the nasb-ending is the same as the jarr-ending, e.g.:

3



LESSON 1
Coge e 2%
ol (o] g,_.g\ B ‘I saw the cars.’

Here al-sayyarat-i"'" is > sn220 because it is the object.
Lo L G &»U\ O “The people came out of the cars.’

Here al-sayyarat-i is j 9 J.>J» because it is preceded by a preposition.

b) The Diptote (22!l e ¢ ;‘;c )

-~

In this group the jarr-ending is fathah instead of kasrah, e.g.:

§

2

. LS 1A “This is Zainab’s book.’

Here Zainab-a has fathah instead of kasrah because it is a diptote.
Note that in this group the jarr-ending is the same as nash-ending, e.g.:

it § @L& ‘T asked Zainab.’

- . . . . 1£ 3
Here Zainab-a is < | A because it is 4 J  gRRA.

A o - .
o i § LSS‘ o3 ‘I went to Zainab.’

Here Zainab-a is j 9 J,>J» because it is preceded by a preposition.

¢) The Five Nouns (*\;WL;»J\ AP 1) T

r w .ot £ 9 :
These are 95 c;.e c;:- ¢ C\ ‘ Cf)\.“‘ These nouns take the secondary endings only when they are

al

_L25, and the u\ 225 is not the pronoun of the first person singular. In this group the r«f‘-

ending is wdw, the nasb-ending is «/if and the jarr-ending is va’, e.g.:
¢ I 44,,,‘4'\ JB 13k ‘What did Bilal’s father say?’
Note it is qJ\ (abt) with a waw, not QJ (abu).

2, £
|

L) e ‘I know Bilal’s father.’

-

¢ z
Note it is UL (ab@) with an a/if, not Q\ (aba).
p TR .
. J')’b L L/Jl CaRd ‘I went to Bilal’s father.’

Note it is | (ab) with a vd’, not HJ‘ (abi).

' - This should be pronounced as-sayyarat-i. For the sake of uniformity, I write the definite article al- even with the solar letters.
- ;.;J\ means the male relative of the husband such as his brother and his kasher.

4



LESSON 1
The A.“Jl 3l2s canbea pronoun, €.g.:

e Lk :
¢ s j;'-\ Cad R | ‘Where did your brother go?”  (akhii-ka)

S é,i\ ) L ‘I did not see your brother.’ (akha-ka)
¢ @L&-j ;..ZT L ‘What is your brother’s name?’ (akhi-ka)

A & . . .
If the s\.jl 3L25 is the pronoun of the first person singular, the noun remains unchanged, e.g.:
. 5\&4\}:.3\: Lsé—\ :fa N ‘My brother is studying at the university.’
LS%‘ ) gl | ‘Do you know my brother?’
£ - L4
¢ L;’L.\ o ) j:.:J\ J>-  ‘Take the address from my brother.’

The word ;_9 (mouth) can be used in two ways: with the m7m and without it. When used with the mim,

it is declined with the primary endings, e.g.:

: :,a.gl/:_) Slas “Your mouth is clean.’
W &23} ‘Open your mouth.’
¢ d).fa < |13s  “What is in your mouth?’

2 _ £
If the mim is dropped, it is declined like the Five Nouns (dwwio:.ﬁ\ i\,wfl»‘}“), e.g.

A

j.c:}ﬁp s 48 “Your mouth is small.”  (fi-ka)
. .ﬂ\; éﬁj ‘Open your mouth.’ (fa-ka)

Q;‘l& ¢ \/.5\./4 ‘What is in your mouth?’ ({i-ka
2 & y

-

The Five Nouns are declined with the special secondary endings only if they are :ﬁL_aﬁ as we have

seen. Otherwise they are declined with the primary endings.

. é\ g% ‘He is a brother.’

¢ }CY\ &.3 | ‘Where is the brother?’
RS é_,.“a\) ‘I saw a brother.’

. éY\ @Lw ‘I asked the brother.’

. C\ :fg fda ‘This is from a brother.’



£ 2 .
A CY\ SJLSM V.3 “This is the brother’s car.’

d) The Sound Masculine Plural (I S A évm}"). This group has -ii(na) as the raf* ending, and -
i(na) as the nasb/jarr-ending, e.g.:
. '%f'v-i;ij% :};-3 “The teachers entered.’

Here al-mudarris-tina is & 4¢ .s.

“ e L ;,.S\M le ‘I did not ask the teachers.’
Here al-mudarris-Tha is > s.2.s.
‘Where is the teachers’ room?’

Here al-mudarris-ina is | 9 s
Note that the nasb-ending is the same as the jarr-ending in this group.

The O of -ii(na) and -1(na) is omitted if the noun happens to be . "sl 25, 6.8
¢ gTJlH y;.}f» Cﬁ‘ ‘Where are the Qur’an teachers?” (mudarris-i)

¢ Q\ J,a.“ )J.» g_,d‘ )\ ‘Did you see the Qur’an teachers?’ (mudarris-T)
You will learn more about the omission of the #iin in Lesson 9.
e) The Dual ( V&NJ\)

The dual takes —5(ni) as the raf*-ending, and -ai(ni) as the nasb/jarr-endings, e.g.:

¢ d\.,b.bJ\ Lol 25| “Have the two new teachers come?’  (al-mudarris-ini)
o 2 Oi/E . .
$ el ! )\ ‘Did you see the two teachers?’ (al-mudarris-aynt)

4 o E . .
JL,»\ ‘I am asking about the two teachers.” (al-mudarris-ayni)

The O of -a(ni) and -ai(ni) is omitted if the noun happens to be a:ﬁ\yﬁml, e.g.

2
¢ J)’b | &»ju\:“ R | ‘Where are Bilal’s two sisters studying?’  (ukht-i)
¢ J)’\.s \ u.:gju\ ‘Do you know Bilal’s two sisters?’ (ukht-ai)

¢ 43)\4 u;.é-\ Ji ;/,:,:5\ ‘Did you write to Bilal’s two sisters?’ (ukht-ar)

You will learn more about the omission of the i in Lesson 9.



Latent Endings

3 °g
(sl 22 Y))
There are three groups of nouns in which the endings do not appear for phonetic reasons. These are:

a) The magsiir (j j.iz.ilﬂ): It is a noun ending in a long i like ¢ Lé:ﬂ\ Ll ¢ W\

All the three endings are latent in the magsiir, e.g.:

Lzall uiﬂ[\ v;;ﬂ\ :}Eﬁ “The young man killed the viper with a stick.’
Here dﬂ.d\ (al-fata) is the 3.9\5, but has no u-ending;
P ) A )
6*.9‘}“ (al-af*a) is the 4 J 9224,  but has no a-ending;

Lzl (al-‘asd) is preceded by a preposition, and so it is j jj;ﬁ;»

but has no i-ending.
Compare this sentence to the following sentence with the same meaning:

;fﬁb :‘".,S}J\ .\.‘:,.5\, J.:.; (gatala I-walad-u I-hayyat-a bi 1-‘td-i)
In this sentence the endings of all nouns appear.
b) The Mudqf of the Pronoun of the First Person Singular (M\ %\5 s‘l :)\.:aij\) like‘_;\ﬁ.aj. In

this group also all the three endings are latent, e.g.:
AP L b - , o :
. G}'\AJ‘ & L;.}\:M\ A= ledMy grandfather invited my teacher with my classmates.’
Here (ci\> (jadd-) is 3.9\5,
. i . .‘} .
Lﬂg;\;w\ (ustadh-1)  is ) Jj:uu,
-4 . R,

L;Yu)' (zumala’-T) s 4] C3La,

But none of the three has the ending.
Compare this to:

LB e Bile) 05 63

“Your grandfather invited your teacher with your classmates.’
Here jadd-u-ka has the u-ending, ustadh-a-ka has the a-ending and zumala’-i-ka has the i-ending.

¢) The Mangiis (_» jjilw\):
It is a noun ending in an original v, e.g.:
f\.d\ ‘the judge’, Lf\"“““ ‘the advocate’ &bd\ ‘the culprit’.
In this group the u- and the i- endmgs are latent, but the a-ending appears, e.g.:

. L;/:bJ o %5,3\>u.5\ &57.9\,2,\ JLw “The judge asked the advocate about the culprit.’

. A
Here J,ahd\ (al-qadiy) which is é s 7 has no ending,
7



LESSON 1

P LJV (al-janiy) which is | 4 > also has no ending,

e

2 = . “ o 2R A e ”
but ngbuj\ (al-mubamiy-a) which is < ¢.2.» has a-ending.
If the mangiis takes the ramwin it loses the terminal yd |, e.g.:

2 \& which originally was L’;p@

After the loss of the u-ending and the ya it became qadi-n (qadiy-u-n - gadi-n).

The yd’, however, returns in the accusative case (< s.2.4), €..:
. \..é ‘ b ¢ .. v 5
LR A This is a judge.

. i,.,,;* FRER[E7 ‘I asked a judge.’

/‘D/

Jab S |da  “This is the house of a judge.’

Note that the yi ' of the manqiis is retained only in the following three cases:
1) If it has the definite article al-, e.g.:

A e \.\M ¢ &7:;, jﬁ‘ QJ‘ ¢ ’_},L,‘;" 3415\

w3

2) Ifitis _2L2s, eg.:
S ol “qadiy of Makkah’
. t\év\.ﬂ Lﬁﬂbu: ‘defence advocate’

. d:;a-;‘ﬂ %5.;\ 9 ‘the Valley of Aqiq’ (in Madinah Munawwarah).

W8

3) Ifitis .q,}‘,'_f;,\:.zv-,,u~>, e.g.
. 3 o
Loty O e ‘I crossed a valley.’

Lol Sl ‘I asked a judge.’

s

Lot ‘I want a second.’

.

The Indeclinable Nouns

#

( red ‘\, m,..:/*v" :’5 S \._,.y‘“ 1:5»..; Q«Aw ).

We have seen that most Arabic nouns are declinable. Sdme are indeclinable, i.e. they do not indicate their
functions by changing their endings. The following groups are indeclinable (mabni).

® i s P os _ . X . g 2 a‘«/ .
1) The pronouns ( LW,:J\) like: Ul ¢ &d) ¢ ¢». Likewise /7 and /i in A..';.“’\J (I saw him) are pronouns.

You might have noticed that there are two sets of pronouns. One set is used as raf" pronouns, and
another set as nash and jarr pronouns, €.g.:

8



LM ‘We are students.’
¢z
o~ .
¢ \.::3\)\ ‘Did you see us?’
Ao, bt « .
LS e “This is our house.’

But the changes that the pronouns undergo have no pattern. So each form of the pronoun is regarded as a
separate entity. That is why the pronouns are classed as indeclinable though they undergo changes to
indicate their functions in the sentence.

3 <3 . : : :
2) Demonstrative pronouns (§JL$>)\ Lo l) like: é,@)\ cgyj);.b U3 codn (|da but QUA and
Olla are declinable (g._)ju)
3) Relative pronouns (A.Sj,ja;ﬂ\ ‘;LLEA’\) like: u.pw c&g-}.s\ ¢ u.:J\ cL“s.UL but OV} and g\:ﬁ\ are

declinable.

4) Some interrogative words like: AN LS‘" ¢ Lo c \ Luﬂ

2
* i /'—’ £ } rd .
5) Some adverbs (:‘)jj.b}\) like: 0! cu,wa\ (o cbi.
6) The verb-nouns (Jjuﬂ\ ’;Ll.fu\): A verb-noun is a noun with the meaning of a verb, like:

A
[ -—
\

‘I am annoyed.’ ol ‘I feel pain.’ &.@T ‘Accept.’

(9 W

< - 7z s ® - /. - 2/ - . . -
7) Compound numbers. These are & 45l up to s 4225 along with their feminine forms.

Only the first part of }:““.3 LS} and g}&; \3:5} is declinable (as explained in Key to Part Two). |

With regard to a mu ‘rab noun we say it is /'Harﬂ? ', mangsiib or majriir, but with regard to a mabni noun, we

say: it 1sJ,>- J:m 59 (.g_ﬂ.é.: J>u L59 cce) J.;u L5916 it is in the place of raf", nasb or jarr, because

a mabni noun cannot be marfii‘, mansiib or mcy/ iir, but it occupies a place that belongs to a marfii‘, mansiib
or majriir noun; and if a mabni noun were to be replaced by a mu ‘rab one it will be marfii ', mansiib or majriir,

e.g.

A 2 % A . . N
in YU <o), thenoun YSis mansiib because it is 4 J gmiedl, but
. s CoL . .
in |\l c_,.g\ ), the noun | is ‘in the place of nash’ because it occupies the same

place as the mansiib Y.



When is a noun martfii - (in the nominative case)?

A noun is /narfii when it is:

1,2) mubtada’ or khabar, e.g. j,ff\ lJ ‘Allah is the greatest.”
3) ism of kana, e.g.: \}-j;.éﬁ &U\ o “The door was open.’
4)  khabar of inna, .80 )RS Al dl ‘Surely, Allah is forgiving.’
5) fail, e.g.: al) Lals ‘Allah created us.’
) s By Bem .4
6) nd'ib al-fail» g b o ;)LQ})\ (3l “Man was created from clay.’

When is a noun mansiib (in the accusative case)?

A noun is insiih when it is:

1) ism of inna, e.g.. jj.zc« aU‘~ f)i ‘Surely, Allil is forgiving.’

2) khabai of kina, e.g.: :\wbwU %\&L” Z)\f ‘The food was delicious’

3) maf il bihi, e.g.: ﬁJ‘ é,.,o.g_a ‘I have understood the lesson.”

A mat il fihi, ™ eg.: S @i }/9\..» ‘My father travelled by night.’
J.“:J.AJ\ L &jv\.ﬁj‘ &M:L;- ‘The teacher sat at the headmaster’s.’

. } d /0
5) mayf il lalu, (5) e.g.:};ﬂ o \ﬁg:v %/-:.-J‘ N C,-‘;-J?- ()

‘T did not leave the house (o1 fear of heat.’
A

6) maf il ma ahu, ' e.g: fomly & ‘I walked along the mountain.’
o 3 Y 2 . . . s
Lﬁjwj\ ‘.552 UL g oD I went to the market along with Khilid.

\
, A 24
7Y maf il mutlag, P eg:) SV S3 A \)jf)\ ‘Remember Allah much.’

N ib al-fil is the subject of a verb in the passive voice. See Lesson 3.
Y Almafal fihi (A.,“.e JM\) is an adverb of time or place. See Lesson 12.
CAlmafal lali (45 ijji;.d\) is the noun that gives the reason for doing a thing.
Ad-miaf "l v ahu (4;2 J)i.:.d\) is a noun coming after the ¢y which means ‘along with’.

U-tnctf il Al-mustley (&Ua.ij\ :J)ia;}\) is the ,d.24 of the verb occurring in the sentence. See Lesson 28.
10



LESSON 1

z ¢ ¥
8) hal, ® eg.:lisls dl..a.j S->  ‘My grandfather prays sitting.’
z v ° G E e
9) rtamyiz, ® e.g. U d)wg ZJ‘:""" Ul ‘T am better than you in handwriting.’

P @ 3 w
10) mustathna, 19 e.g.: | Jsl> YL MK :JM\ -t
. ‘All the students attended except Hamid.’
11) munada, 1V e.g.: i\.U\ :L& L ‘O Abdullah!’

When is a noun majriir (in the genitive case)?
A noun is majriir when it is:

Y Py
1) mudaf ilayhi, e.g.: 5\.1.5\ d)\:f O\J,E.S\ “The Qur’an is the book of Allah.’

3
2) preceded by a preposition, e.g.: J 3 OOll“The students are in the class.’
[ yap @ S

Nouns of Dependent Declension
(=153

There are four grammatical elements which have no independent declension of their own; they are dependent
on other nouns for their declension. These are:

A oW . . . . o P . .
a) the na 't (cox)), i.e. adjective. It follows its man ‘i (<o M\) in its declension. The man ‘iit is the noun
which the adjective qualifies, e.g.:
I} 4

¢ A Jad! &.SLH\ }:&é—* ‘Did the new student attend?’

. ¥ 40
Casd IR ji.l.,o..s\ A ‘The headmaster wants the new student.’
. ,b.)aJ\ ;,.SUa_S\ j:é.: | da “This is the notebook of the new student.’

In these sentences the na ' (.Lg.}.%J\) follows the man ‘it (\,,JLH\) in the / ‘rab.

 Al-hal (J\?J\) is an adverb of manner. See Lesson 31.

 Al-tamyiz (/,,;:J\) is a noun that specifies the meaning of a vague word. One may be better than the other in various fields; and ‘in
handwriting’ specifies this. See Lesson 30.

@

" Al-mustathné (L;:.:Li.i\) is the noun that comes after ¥ meaning ‘except’. See Lesson 32.

"""y ou have learnt this in Book Two.

11



35

b) the rawkid (w\,g, ;\\), i.e., a noun denoting emphasis like ;,._é.lf ‘all of them”’, 2.5 “himself’ ,e.g.

35 wd .
. v.@.l.f S| e ‘All the students attended.’
A j.”’.x.d\ RV L; J\.B ‘The headmaster himself told me this.’
2 Y
Wa ww oz
. V_é.'tf (V3] I ‘I asked !l the students.’
A ;.:.,\.J\ é,.S\.w ‘I asked the headmaster hinsell.’
23

. (a,.e_lf UM\ LSLC ;,«Jw» ‘I greeted all the students.’
. w J.:J.J\ ‘51.9 ML» ‘] greeted the headmaster himself.” %

4 se_
Here the rawkid (UM.Q'.B c:}f ) follows the mu ‘akkad ( .:LU\ ¢ ). The mu akkad (15 ;‘J\.) is the
noun which is emphasized.
¢) The ma ‘tiif (-2 WM 1), i.e., a noun joined to another by a conjunction like 9 and, e.g.:
wwj J.,a\}- CJ.>- ‘Hamid and his friend went out.’
4:3; L2 L\»b— j.g.)wj\ Q,.Ua “The headmaster wanted Hamid and his friend.”

¥ s
¢ e IR o 9 ./Le\:- C;f o | ‘Where are the books of Hamid and his friend?’

d) The badal ( N3 ., a noun in apposition to another, e.g.:

¢ g Jashi P
Vwa\,m Jj.>-\ c>u\ Has your brother Hashim passed?
’ JUQ.S lda > \ ‘Has this student passed?’
o P
£ &, o £
DA P | S s Y ‘I know your brother Hishim.”
LR s :)J&\ ‘I know this student.’

s & 2 &
¢ VM\A Sl 2\3;& Cﬁ\ “Where is your brother Hashim’s room?’

Ti e deed
¢ ;_,.SU@.S\ fda 3\.’9]9 dﬁ‘ ‘Where is the room of this student?’

"~ See Key to Book Two, Lesson 18:3. There /awkid is written as /« 'kid. Both terms are in use.

"' See Lesson 21.

12



[LESSON 1

(B) Moods of Verbs

You have already learnt in Book Two (Lesson 10) that Arabic verbs have three forms: the mddi, the muddri’
and the amr.

The madr and the amr do not undergo any change. So they are mabni. The muddri‘* undergoes changes to
indicate its function in the sentence. So it is mu ‘rab.

Just as the noun has three cases, the mudari* also has three cases which in English grammar are called moods.
These are marfii ', mansitb and majziim.

You have learnt this also in Book Two (Lessons 18 & 21). (14

The mudari*is mabni when it is isndded to the pronouns of the second & third persons feminine
plural, e.g.:

Fd O}Q - A /, 2 ¢ . o )
. u"‘gi <ol ?y\ The sisters are writing.
A - £ _ oﬁo - . . i
C ol U755 13 ‘What are you writing, O sisters?’
Bl I y g

These two forms remain unchanged.

The Four Forms have u—ending in the marfii ', a-ending in the mansiib and no ending in the majziim.
Marfii*: C‘,ﬁj{: c&ffi c;ﬁéﬁ cﬁﬁég;
(yaktub-u, taktl/lb—u, aktub-u, naktub-u).
Mansiib: g;,.f‘:g/} :A céﬁgi j C&,:Mfg} :;3 “.;éogi/ :jj
(lan yaktub-a, l/an taktub-a, lan aktub-a, lan naktub-a)
Majziim: Lﬁj{: VJ cgf,.;.oﬁ (../5 cg:,;if VJ c;.’":ogz Vj

(lam yaktub, lam taktub, lam aktub, lam naktub)

Sa1 0 A 1 s o7 7.
These are the Primary Endings (ii:gﬁ,p‘y\ &Low\). There are Secondary Endings (4.& J.A.S\ :Qb)w\). These
are in the following verbs or verb forms:
v ° .‘ - . . . . e
a) In the Five Forms (M\ JWY\) retention of the terminal niin is the ending of the marfii, and its

omission is the ending of both the mansiih and majziim moods, e.g.:

o o o ° o
- - A f. % }} : “ }’q - . A ,/. . 2 -
Martfii *: u:“g‘ cdjag; cdﬁ:g.g cg\..xg.s cg\...:g.“s
(yaktuba-ni, taktuba-ni, yaktubii-na, taktubii-na, taktubi-na)
o P ° - ° - ° - ° -
_ A-7 0 A7 o A~ o 277 0 2~ o
Mansiib: u.\& &Jj c\)f.\g; uj c\% LJ} (L:\g.} U‘S chzgi uj

(lan yaktuba, lan taktuba, lan yaktubi, lan taktubd, lan taktubt)

14 . - . . . .
Marfii* and mansiib are common to both nouns and verbs while majriir is peculiar to nouns and najziim to verbs.

13



o o
Majziim: u.;ﬁ;,j c\jf;ﬁ;j iji{;;,j Cm;’j ‘Lég;;vj

(lam yaktuba, lam taktuba, lam yaktubi, lam taktubii, lam taktubr)

b) In the ndqis verb the endings of the mi«jziin mood is the omission of the third radical which is a weak letter
(see Book Two, Lesson 28).

Phonetically it amounts to shortening the long vowel, e.g.:

)jzg (yatli) :}:2 ;./5 (lam yatlu)
u’;;: (yabki) ' ;,L"é ;J (lam yabki)

3

=] -]
P s
.

(e (yansi) C s ;,J (lam yansa)

Latent Endings

]

saadl ) e
a) In the ndiqis verbs the following ending are latent:

- The u-ending of the r«/" in verbs ending in ya ', waw and alif, e.g.:

LS“;“':\ ‘I'walk”  (amshi) for the original :5{..;\
a0 a0
j'U | ‘Irecite’ (atlii)  for the original }U\

LS:”J‘ ‘I forget’ (ansi) for the original C‘;&J\

- The a-ending of the sish in verbs ending in «/if, e.g.:

2

o o £ 4 3

LS:“” Ol &)l “Twant to forget’”  (ansa).

But it appears in verbs ending in v " and wdaw, e.g.:
pp gm g

£ os g2 s

CS‘;‘“’:‘ ) J.U\ ‘I want to walk’ (amshiy-a)
‘I want to recite’ (atluw-a)

b) The sukiin of the jazm in the mudaaf verbs, e.g.:

&G;J (J ‘I did not perform hajj.’

Here é;;;\ (ahujj-u) drops the dammah after VJ and becomes &;J—\ (ahujj). As it involves A

U;Z/f L2J) a fathah is added, so it becomes &c;-\ V) (lam ahujj-a).
See Book Two, Lesson 29.
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T ey ¥ g
(D5 7) (LAY 322

(&7 ) &~

T i
o“ & e
- o .

i 2 Uo7
(B 7) o

(ol z)

A
“

(Q{)@‘ &5)5)5" z) Ny

criminal, culprit -
viper (with tanwin) las Ls
god-fearing, pious w
wounded person j..w L o L
to remain, stay (a-u) ;1_)9.‘ }.@_l:
. L R ]
grammarian e R

group, class

relative

15

lawyer
heat
except

at that time

to be directly
attached (iii)

to appear (a-a)

to sort out,
separate (ii)

absolutely

to omit (a-i)



LESSON 2

LESSON 2

In this lesson we learn the following:

(1) Wéw can be a letter as in ’:qu ¢ 9]
and it can be a word as in ¢ js.»\:-ﬁ U)’u U.J ‘Where are Bilal and Hamid?’
The word 4 has many meanings. We mention in this lesson three of them. They are:
a) and as in i«m 1\:5 J\gj ‘I want a book and a pen.’
el g j;;/ii\ /CJ} al-Zubair 1nd Hamid went out.’

The word 4 in these sentences is a conjunction (kw,aj;m“\ N }‘;»).
b) hy as used in an oath, e.g.:

gl Lol ‘By Allah, T did not see him.’

The word s in this sense is a preposition (;}Q\ b ).
c¢) The third type of wdw is called waw al-hdl. It is prefixed to a subordinate nominal sentence
(fi;‘&.ify\ 31.«3;”). This sentence describes the circumstance in which the action of the main
sentence took place, e.g.:
B Y o) S
‘T entered the mosque while the imam was performing rukii .

Ve Ul Sle ‘My father died when I was small.’

AP T -
58 LS e gas el 2501 s
‘The teacher entered the class carrying a lot of books.’

}/
Lézﬁ -Ujj\ 6’9\} “The boy came to me crying.’

A - . £ o, B2 F 7
Ol sl Jf\.? M ‘Don’t eat \when you are full.’

Note that if the k/i«bar of this subordinate nominal sentence is a verb, it should be muucldiri .

(2) We have seen in Book Two (Lesson 1) that }x*' signifies hope or fear, e.g.:

J.:;u ) ‘I hope he is well.” The meaning of hope is called ,:;‘»\
Dy a2} “Iam afraid he is sick.” The meaning of fear is called J\&\J\

NN o i Py :
Another example of QUL&}H is the /iudith in which the Prophet (,.Lv; ads alJl ;5\«,9 said:

16



z

BRES ng\.c :X’u ?\ \[ U,\;J ‘I am afraid I will not perform /) after this year of mine.’

s z 3 E
3). (5;.7'-\ Z\.J.;o\ V&Ji ‘Take some more examples.’

L -
Here ;&;Jl is ,J;.é.)\ ;.A.u\ (verb-noun).

= 2
It is made of the preposition 31 and the pronoun V.f . But in this construction it means ‘take’, and

?dgj IS 2 g0 because it is 4 Jj:uu
The radio and TV announcers say:

J\.o-ys 3 J:M: VXJ\ which literally means ‘Take the news bulletin.’
The pronoun changes according to the person addressed to:

.&A\jl L Q\.:Q\ | é,u\ ‘Take this book, Ibrahim.’
ool L eI SJJ\ ‘Take the spoons, sister.’
SRS -

u\ j-" J.:\.e.U\ RE ugd ‘Take these notebooks, sisters.’

]

(4) The word 2 L&

— 0\

3

o %
things” is a diptote because it is originally & 5.5 on the pattern of:

.o of ° s
cBasl Ll alasd

-

—_—n\

(5) The m{/dz“ is also used to express a wish, e.g.:

: :\15\ :Ll.g-; ‘May Allah have mercy on him!’

. jj jj.” }:z;« ‘May Allah forgive him!’

. j.LU\ slad ‘May Allah grant him health!’
The mddr in this sense is negated by the particle ‘g, e.g.:

! Ub 9 Jgn \ J\ J\ 3] ‘May Allah not show you anything unpleasant!’

\
w

!ﬂ\.é lJ f}z; 3] ‘May Allah not smash your mouth!”()

OB Q\ 5% :fg :}fb ‘Any question?’

The full construction of this sentence is like this:

: i.e., may Allah preserve your speech-organ. It is said in appreciation of a beautiful statement. It signifies ‘How beautifully

you have said it!’

17



LESSON 2
¢ i&:xj.g I 5% e :}i ‘Do you have any question?’

Here | §% is mubtada’ and S is khabar, and " in this construction is called SAJ\}‘\ o (the

extra min), and is used to cimphasize the meaning of the sentence.
There are two conditions for using the extra min:
1) The sentence should contain negation, prohibition or interrogation. The interrogation should only

be with the particle |».
2) The noun following the extra /min should be indefinite, e.g.:

Negation: ..;k>\ :f; <& L “No one is absent.’

../Jo—\ ot é_,;\) Le ‘I did not see anyone.’

Prohibition: . ./X.>\ o ocj.x: Y “None should go out.’
. %:5:% o C,:ig;" Y ‘Don’t write anything.’
Interrogation: ¢ J\ }’L :fg Jjb ‘Any questions?’
¢ > :fg :}]b ‘Anything new?’
< e § 2, ,i"w” < 3y ) A7 -a-
In the Qur’an (50:30) = v Jo w0 P Jﬂs Jj.a.a) QM\ J.O: (‘,..@_; Jyu ff
‘On the day when We will say to Hell, “Are you full?” and it will say, “Have you any more?”’
Note that the noun following the extra min is majriir because of this :'J"f’ and loses its original ending,
e.g.

z £ 4 z ® _ L. t . .
In i1 c;,_.g\ B e the word | A>| is mansiib because it is the 4 | s=i2.4, but after the introduction

of the extra min, it loses its nash-ending and takes the jarr-ending even though its function
remains what it was before.
In the same way

,’g * ot - "i * . o . . R v . .
In J>| > Lo the word J>| is marfii* because it is the s 15, After the introduction of the

LT i T
extra min J>\ becomes majriir ./X.>-\, though it remains J&b in the sentence.

o

(7) s M (ladd) is a zarf (- ,E”/',Lz\'l = adverb) and has the same meaning as Ls, e.g.:
¢ sl 13k “What do you have?’
Note that the «/if of (& A changes to v’ when its ! 2\ =4 is a pronoun:

U sV (lada), but £S5 (laday-ka).

18



LESSON 2
3 . ol LSLC' :,Jo-s means ‘I went to the headmaster in his office.’

(9) The plural of L;;Ja (meaning) is Q\Za, and with the definite article LS/’U";‘H

Here are some more nouns which form their plurals on this pattern:
Dl (@D (gsj\gsdb
33 -
A (night) : Ju @w\)
s (elub) ¢ ol (a3
These nouns are declined like the mangiis (see Lesson 1), e.g.:
a8 °
Marfii*: .8 J::f g/)b& }\ )lé ‘Waw has many meanings.” (ma‘ani-n)
z £, o £
Mansiib: . 8 Jﬁf Cj\x} )\ j.U - J,C—\ ‘I know many meanings of wdw.” (ma‘aniy-a)
Majriir: .8 J:,".f g/)‘.&&é 3\ jj\ LS/?\;: ‘Waw 1s used in many meanings.’ (ma‘ani-n)

Here are examples with -al:

2R
Marfii*: .8 fzf LE""‘:”M ‘The meanings are many.’ (al-ma‘ani)
Mansiib: $ &\;;J\ é,i:f \ ‘Did you write the meanings?’ (al-ma‘aniy-a)

Majriir: gﬁw\ 5 &aj.w\ :,.SL»

‘I asked the teacher about the meanings.” (al-ma*ant)@

a hadith reported by both Imam Bukhart and Imam Muslim in their §

TR T T :
A.LQ - I RIS " . . @
O - hadith collections known as g\.xeu.d\

* o s ahdjj (pilgrim) who has

.z
2 BT e

. 2 a8l igamah (i
f7="  assumed the state of sanctity N ‘\’b o Say iganan (i)

Qf; > group, party i'k.m; zL&  to wish, want (i-a)
A 171 o & . ] o .
Su\j |J| hame ok the. S.th SSiics ‘ )\.,>'-Y\ 6 & mews bulletin

(literally, dining table)
LO 9.l.z: x.Ua_: x,Ua to rise (of the sun) (a-u) e ﬁ to remain (i-a)

. to speak, utter (a word), # |- . = tooverturn, change
Lo.}z ng Q,Lz P . 0 V-GN |

talk, pronounce (a-i) e A 3 (a-1)

* See also Lesson 34.
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o) o
(boys z) Lo
KWK

to deliver a lecture,
address a gathering (a-u)

XSSP
S S

ol - - Zo .
healthy ( o \xs C) e
N w8, ¥
condition (jg }LD. z ) jsa
to infgrm; to convey the ' d o -
meaning, denote, signify (iv)
one who has failed (in 8
an examination) e
h for Madinah LR
anqt er name ‘or adina .
(without ranwin) /
b g
happy, rejoicing ¢ 15 9
name of the 30% siirah 2@ |G
(literally, the Byzantines) J - «.J
A o . .
to set (of the sun) (a-u) J’W J,<,.>—
to explain (a-a) ’é\.m;l
state, situation, 2 ﬁ] 3 WAl
circumstance : - =
to respond, answer (a prayer), °o <o
grant (a request) (x) “’"}f'WA
in this manner, 2 ‘f.,; = £
on this pattern =% {3
28

B, 2 2 ot -

s 2 P
to be, being (masdar of O )gé o)

20
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to make sure (v)
meaning

line, handwriting

game (hunted wild
animal)

oath

visit to the Ka‘bah
farewell

to accept (v)

to carry (a-i)

composition,
writing

to seek (a-u)

answer!

to approach, go
near (i-a)

newspaper



LESSON 3

In this lesson we learn the following:

(1) The passive voice (Jj.é_;;;.lé f;/ilj\ Jifﬂ\): Here is an example of the passive voice in English:

‘The soldier killed the spy.” — ‘The spy was killed.’.
In the passive voice the subject is omitted and the object takes the place of the subject.
Let us see how to express the same idea in Arabic:

Active voice ((ﬂji;&.ls 555:";)‘ :}.i.gj\):

3

J:j_febJ\ gRera) 3:2 (qatala I-jundiyy-u l-jasiis-a)

Passive voice (Jj.é_;wu f;;;}\ j@\):
, =
:,ﬁ;.,i;b-d\ J.? (qutila 1-jasiis-u)
Note that in the passive voice the /7 i/ (:_ggq‘;.J\) has been omitted and the miaf*iil bihi has taken its

place, and has become marfii . It is now called Jg«w\ L.

In English we may say ‘the spy was killed’ or ‘the spy was killed by the soldier’. The second
construction is not possible in Arabic.

The original verb undergoes certain changes when it is converted to passive voice.
In the mdd, the first radical takes (ammah and the second has kasrah.

In the mudari*, the letter of the muddra ‘ah') has dammah, and the second radical has fathah, e.g.:

~ o . .
Madr: J..& ‘he killed’ — J.& ‘he was killed’ (qatala — qutila)
If the second radical originally has kasrah, it remains, e.g.:

- 2
< ;% ‘hedrank’  — O & ‘it wasdrunk®  (shariba — shuriba)
- - - R . ‘e [
e ad ‘he heard’ e ‘it was heard”  (sami‘a — sumi‘a)

Mudari*: :}iaf ‘he kills> — 3:..53 ‘he is killed’ (yaqtulu — yuqtalu)

If the second radical originally has futhah, it remains, e.g.:

S hoopens -4 i 5 “itis opened’  (yaftahu — yuftahu)

" The letters (& (S ci) which are prefixed to the muciri* as in LS5 (23S i (LSS (L3S are called “letters of

mudcdra‘ah. These have been combined to form the word Ji\ ‘they came’.
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LESSON 3

] E ‘
174 ‘he reads’ -V Citisread’ (yaqra’u — yuqra’u)
You know that if wdw is the first radical, it is omitted in the mucdari' (See Book Two,

Lesson 26). But it is restored in the passive voice, e.g.:
2 2

A>  ‘he finds’ -~ A=y ‘hefitis found’

pe

2 2 2
J.§ ‘he begets (a child)’ - \,33,; ‘he is born’

Here are some examples of the passive voice:

2 ° 2
u.;ig &5 O\....MJ}!\ &L‘;‘ ‘Man was created from clay.’
z .- . . .
¢ oy ?L‘; ! < ‘In which year were you born?’

w ], I | .
. ;})jj;:j\ L;e geU\ :1’3 T J:;,;i,- ‘Thousands of people are killed in wars.”

< ° 5 o s Sy L xn
e ;)o—b P ety U'fﬁ“j‘ AL
‘A believer is not bitten (by a snake) from the same hole twice.” (/iaclith), i.e., does not
repeat the same mistake.

: uL&A\ & PSI ds =Y “This book i+ not found in the bookshops.”
> s ,’“. s~ >
A ﬁ A}.: (A #  “He neither begot, nor was He begotien” (Qur’an 112:3).
If the J&L&J\ dj U is feminine, the verb should also be feminine, e.g.:
¢ il\.vg'\’ el ;..2« ‘What was Aminah asked about?’
s 5.::{) 35 kﬁ’ 5\5:./3\.115\ g)}w "wx ‘Strat al-Fatihah 15 read in every rak ‘ah.’
If the 4 3 jx.u (of the active voice) is a pronoun, then its corresponding r«/ -form is used
ford&\.ﬁ\ &5 U as explained in Ex 7 in the main Text Book, e.g.:
. :)j;}‘ij\ ;.glé “The criminals killed them.’ 1}m “T'hey were killed.’

£ N o
j.gJWJ\ JJL.» ‘The headmaster asked me.” — <o’ ¢l was asked.’

(2) 'PM S""J\) 5"\3\,‘,_};3) &:g-;ﬂj éiif» %\.9 :Q.,\.B ‘I was born in the year 1967 CE*’

“CE’ stands for ‘Christian Era’. We do not use AD as it stands for ‘Anno Domini’ in Latin which means ‘in the year of
(our) Lord’.
22



il . . . ﬂ)‘ . . . . .
Here the word f\‘c is mansiib because it is 4.8 JJM, i.e., a noun denoting the time of the action
(adverb). It does not have the ranwin because it is mudaf. Here are some more examples:

Ll 2l Ol %JLE.S\ %\;J\ E\:":“"}f'“ FAL| &ej.:\.&‘l will study French next year.’

‘o % . g . .
. éxi;J\ 25 A & S ‘I was in Mecca on Friday.’
¢ sl i Z) j.Jb..U &g\ ‘Where are you going this evening?’

A

(3) Certain proper names have J\ (al-) like j.;w I :;J.;.C».;J\ ¢ &;;JS. When the particle U is used with

them, J\ is dropped, e.g.:

&&5— L (ot 2).;.;;5\ L).

3 o s o B
(4) (¢-br means ‘Indian’. This is formed from .\.z.@)\ by adding (¢ (-iyy-un) at the end.

& 3.
This process is called nasab (;.ZVJ\), and the noun after the addition of this (¢ is called mansib

(& 52200,

Note that certain nouns have irregular mansiih forms, e.g.:

3ot ;
< j>'-\ (brotherly) from é\

% 5 3
S ﬁ\ (fatherly) from C_f)\

1:‘ - -
(S sJ  (prophetic) from Z};

=]
# u

2
(S)j,;-\ (ukhar-u) is the plural of (">

—_— e

tis 2] g2 E;Z.,Z
The plural of the masculine j.;-Tis K )j.;—T Here are some examples:

j;-T S 9 B}b %};5\ ol ‘Bilal and another student were absent today.’

A @ -0 . .
.0 jj,.S—\ M 9 33’\4 e j;}\ <& “Bilal and other students were absent today.’

2
o % ° . .
. L5;,>'-i ‘"\.,5\.19 9 CMU cule ‘Zainab and another female student were absent.’
2
- 2R © N .
Vel oW oy oeule ‘Zainab and other female students were absent.’
F L) )

* Not to be confused with mansiib (< j.ja;}) which is with the letter 2.
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LESSON 3

In the Qur an (2 184):
- w T 72 '/: & F . - -~ =%
f‘ﬂ\)‘uﬂbww&)\\.@)f@dgy 2
‘But whoever of you is sick or is on a journey (fasts the same) number of other days.

'y

As 2l is an irrational noun, the singular (¢ = can also be used with it, e.g.:

2
LS}"‘ f\.ﬁ\ LSe WJ L@..g) c(a\:y\ ol A.JU« QJL.Q.S\
“The hotels are expensive these days, but they are cheap on other days.’

o W o
6) _L.o ‘he offered salal’. The mudari*is .=, and the amris |.=.
S LS @2 -,

. . . .
The expression L. _L.> means ‘he led us in saldh’, i.e., he was our imam. So L'; |.> means ‘lead
o A

us in saldh as the imdam.”
(7) el .. 5l means ‘either ... or’, e.g.:
< \.:\J ; Ja Gl V..»V\ ‘A noun is either masculine or feminine.’

‘Either you visit me or I visit you.’

AL @
D)9il By a5 b
(8) For the i ‘rb of L. through 45 Lox..J, see Key to Book Two, Lesson 24(g).

9) > 4.l is a generic plural noun qu =l o=l L 20). Generic plural nouns are of two kinds:
> ool is a generic p gecsly P

a) Those which make their singular With w (iyy-un) e.g.:

LI R

s ‘Arabs’ Co ‘an Arab’

?'_Sojq. 3 9 R 5 ‘ 9
> Turks 3y a Turk

«A . . b = .
j,,l.i)\ ‘Englishmen’ < ,.55!  ‘an Englishman’
" £ . s c

Note that this :g is not the v " of nusab which we have just learnt in (4).

b) Those which make their singular with /a " marbiitah (), e.g.:

18

w93 . 2

z L ‘apples’  4=\3 ‘an apple’
e 3 ) ) e 3 9
P trees 5 e atree
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LESSON 3

$|7 -~

R~

“fish’ Ss cafish’

To understand the use of the singular and the plural, consider the following examples:

If the doctor asks you what fruit you like, you say:
2
7 (A‘J * .
J'j,d\ ;.,o/-\ ‘I like bananas.’

and if he asks you how many you eat after lunch, you say:

°))"’

In the same way you say:

4% was an Arab.’

\ ‘] eat one banana.’

|

‘I love the Arabs because the Prophet

Note that the dual is formed from this singular form, e.g.:

9@} ‘two Arabs’  (not Oi3&)
QUJ}Q ‘two bananas’ (not 95}2)

2 | 8 b o \_) 8% .

T =) s)sl8 rule AU 9

(A&l =) u (DB z) o

AR 4

(Lo>) =) gld> shoe —

ol T 28 "‘ ¥ s " > P

(8 g} d ) ’)‘j.nﬁ bracelet (ladls ' ) s

‘i: s o female child buried 20

=l 3 alive after birth Y o

# ¢ @ name of the 16" . T

J=! siirah (literally, bees) ~ © Lo g |

3, bad ((revls> ) Crsol>

bell

in that case, therefore, L e ° 2o
Ll ] )

¢ that means o
C;l;z,w to spread out (a-a) b\};s’ d""“L >J
Gl to drive (a vehicle) ,& Lq pd L

(a-u)

25

idol

grain

pistol

dates

to give (iv)

Spy

to slaughter (an
animal) (a-a)

twenty years old

to attach, join,
affix (iv)

to be late (v)



to bite (of a snake); to
sting (of a scorpion) (a-a)

S Sy

late (:‘)L’:ﬂ C) &L&v
A
last night (sp},ﬂgj C) 3,&4

©

(S5 z) 554

to name, call (ii)

handwriting, RS %y 0 L
writing (JJU‘?' C) LJ)J&.'
Kufah (a town in B Ay b0
Iraq) (> o T ) St
clothes

(s z) &

. ﬂg“ ﬂ/). o2

to direct (a question
towards) (ii)

crime, offence, sin

clarity (:J\:&-\.w C) ’:“%_L;
i ; Y S

Gery T SV AW L

clear ()bo—\ ‘)j"* C) 52 2

civil war (J'DL«U) fY .9

important "‘: Jails ; Ue_d_io |

deputy f .;*f 2.:./6 J”}“

to take the place of,
replace (a-u)

45 03
Jﬂb yu

to pray, offer salah (i)

to erect, set up (a-i) (w\,;u (.,\.:u
/‘ AW
to crucify (a-i) CU sJAs

doorkeeper

(dy)ﬁxi z) @?5

26
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to contain (a-i)
reason

thief

ticket

table (of words)
soldier

war

most of the books

truck (US), lorry
(UK)

first world war

hole (of a snake)

2009 CE

to be able to, can
(x)

to compensate,
substitute (ii)

to be born

consider, think
over, ponder (v)

to precede (v)
a number of days

criminal



LESSON 4

LESSON 4

In this lesson we learn the following:

(1) The J.g«\.?d\ \i_i»/\ (ismul-fa ‘il = active participle): In English one who reads is called a ‘reader’, and
one who writes a ‘writer’.

In Arabic a noun on the pattern of /7 ‘il-un 3.9\.39 ! is derived from the verb to denote the one who

does the action, e.g.:

Z : ‘he wrote’ :,5 S “writer’
o L .
d}& ‘he stole’ g )L,u ‘thief’

-

1‘ I
L ‘he worshipped’ Jule  “worshipper’
:ﬁl;- ‘he created’ “:;é\.; ‘creator’
In the Qur’an (6:95):
Allah is the splitter of the grains and fruit kernels (i.e., makes them sprout).
(2) The J M\ ;.ﬁu} (ismul-maf*iil = passive participle): This is a noun on the pattern of maf iil-un
(U ji,i;) 2 derived from the verb to denote the one who suffers the action, e.g.:
J.fé ‘he killed’ U j;.i; ‘one who has been killed’
N 2o
:}B- ‘he created” (9 j,BJA ‘he who has been created/that which has been created’
e ‘he pleased’ 3 )j,i& ‘he who is pleased’
}35 ‘he broke’ 3 %SG “that which is broken’
The Prophet vl.n 9 ads 4l ahp said:
Ao - -~
Sl Lann b Fsld] il Y

‘No creature has to be obeyed if it involves disobedience to the Creator.’

' This pattern can be represented by the formula 132i3-un, i.e., the first radical is followed by a long &, and the second
radical is followed by a short i.

? This pattern can be represented by the formula mal2{i3-un, i.e., an extra ma- is prefixed to the first radical, and the second
radical is followed by a long .
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LESSON 4

(3)3,3.5 L Js\.:u Ul L« ‘I am not unmindful of what you are doing.” This s is called

2

~\._J b \>e=)1 Us (the Hijazi md) and acts like Wj It is used in a nominal sentence, after its introduction

the khabar is rendered mangiib. The khabar may also take an extra hd ' rendering it majriir, €.g.:

#? - °
VRS

just as we say

ANWERE- IR

or . Aoy é,.;ﬂ\ (A

.T.Xg.ke- é,.xj\ UM.:J or Z\i”b"i éﬁxﬂ u‘“cj

We have in the Qur’an (12:31):

L -
=z 37
3

.

S

BUY I

“This is not a human being.’

Here the khabar is mansiib. We also have examples of the k/ithar having bd*, e.g. in 2:74:

B AT A ST
g ) 3,\&’.: Lt JJL’,.; Al s 9+ ‘And Allah is not unmindful of what you do.’

lock

unmindful

conqueror

recompense (J«w«v jj-’\f’ C)
P .

live coal

to support,
provide for (a-u)
to cook in
boiling water (a-
u)

to create (a-a)

to bear witness
(i-a)

to chide, rebuff,
reproach (a-a)

to split, cleave (a-1)

28

(LS ) oS

(ple ) e
Jute &

mq.:m) L& :\.S W
c =~ C
R

shoulder
orphan

dictionary

traveller,
wayfarer

to permit, allow

(a-a)

form of a word

period of time

result

typist

Zoroastrian

side; part, section;
direction; quarter
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PRI
8 l J\Lw’\
¢ Lo
(-
‘i.;. [~3
L=

s
=

e E

:C_ %
b

to carry out,
perform (a-u)

to remove, move
away (a-u)

to earn (a-1)

to point (iv)

to form a word (a-u)
disobedience

good

Spain, especially
southern Spain

theft

to cross, traverse
(a-u)

to escape, flee,
run away (a-i)

to indicate,
denote (a-u)

to understand (a-i)
conjecture

monthly

29

\3 S ‘; :.\ w \

\“5 . & J LS‘ . :'\

1S LSl s
Y
(fe ) Bz

1p s

S

Y

fg'

stranger

to catch hold of
(a-1)

to separate, keep
apart (ii)

to derive a word

from another
(viii)

to buy (viii)
during

fruit kernel, fruit
stone

to bury (a-1)

to be ignorant

(i-a)

to hate (i-a)

to be sorry (i-a) i

to fail (in an
examination) (a-

u)
to fall (a-a)

obedience
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LESSON 5

In this lesson we learn the following:

(1) We have learnt the formation of the passive voice from the sdlim verb. Now we learn its formation
from the ajwaf verb.

Madr: 6 (qala) becomes  |.& (gila) ‘it was said’
> L (ba‘a) becomes  x. (bi'a) ‘it was sold’
:;\‘;a (zada) becomes .U (zida) ‘it was increased/added’

S

Mudari* ) s4 (yagiilu)  becomes \‘e, (yugalu ) ‘itis said’

.o (yabT'u)  becomes ¢\ (yuba‘u)  ‘itissold’
& {

;“\Tfﬁv (yazidu)  becomes ‘,s (yuzadu) ‘it is increased/added’

Here are some examples:

° : a Y
o 2 - _..° . .
“It 15 said that this land was sold for one million riyals.’
2 57‘/ P _ . 2 £ R 2
. QM\} :);;:4“ ¢ L.j L.ﬁ

‘Here newspapers and magazines «rc sold.’

(2) We have learnt in the previous lesson the formation of L» Ll &;w\ from the salim verb. Now we

learn its formation from non-sd/im verbs. |

W

'7“ - [ w . N . Id
a) Muda' af: ) > = > (hajj-un)  ‘pilgrim’ for |5 hajij-un
o Hogllife pile a3

The kasrah of the second radical is dropped for assimilation.

y 2 {/ N Ry . ! e e en ¥
b) Ajwaf wawi: ¢ Jj.a.“s : J\s e (qatil-un)  ‘one who says®  for J)b (qawil-un)
. 4 . 77 » é v » - .
Ajwaf va'r: L 5al A5V (za@'id-un)  ‘more’ for Ju!; zayid-un
jwaf . 2R L) y

e U( = U1y (naji-n/al-najiy)

- 20
c) Nagis wawir: j.>w\.>u

" For sdlim and non-s:lim verbs see Key to Book Two, Lessons 26 through 29.
y 2 . N . R ., .
Ajpwaf wanwt is Ajwaf with waw as the second radical, e.g., J}.Q:g JB ; and wjwaf v T has v as the second radical, e.g.,

T
4 1. This also applies to the ciqis.
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LESSON 5
‘one who has escaped”  for ;;—\: (nd@jiw-un)

Naégis ya'T: (Rt AL Sl (Lé\.fvj\) (saqi-n/al-saqiy) ‘cup bearer’

(3) We have learnt in the previous lesson the formation of the J };uu.j\ ;...3/\ from the salim verb.

Now we learn its formation from non-sal/im verbs.
a) Muda*‘af: The J j;.é.d\ ;..f,uj from this verb is regular, e.g.:

@ ! g0 -

e )9 ‘pleased’
@ _ 5,

Jde gj.bu ‘counted’
& - 2° -

Cep  Dgn ‘poured out’
3.;- 3 )l;é ‘solved’
b) Ajwaf wawr:
3}—%-33 J\:@ 3 fjj,:".; (maqiil-un)  ‘that which has been said’ for 3}}3&
Here the second radical has been dropped. Here is one more example:

A - 2 °
: 7iaY > s (malim-un ‘blameworthy’ for a ¢ 3Ls malwiim-un).
(o= ( ®

Ajwaf va'r:
L LA _ R Bos0 _
T 5| B & 3o (mazid-un)  ‘more for 5 43 34 (mazytid-un).

Here the second radical has been dropped, and the waw of J ji.‘zfa has been changed to

va'. Here is one more example:

3.3;; : a\:{ :}ﬁ;} (makil-un)  ‘measured”  for 3 j;;{:a (makyiil-un).

c) Nagis wawr:

&0 P - ?5} e » . . -
B les ¢&Ae (mad iiw-un) ‘invited’.
. . . . . . . } ° s
It is regular. It is written with one waw bearing shaddah. If it is written like this ; ) & Ls, you can

see the two wdaws: the first is the waw of J ji.éﬁ, and the second is the third radical. Here is

another example:
) °/ 17 1‘5} ° - . . .
jl:g N j.\:,a (matliw-un)  ‘that which is recited’.

Nagis ya'i:

? The J M\ é.i:\ is derived from the passive form of the verb. That is why the passive form of the verb is given in the

main book. But here in the Key the active form is given as it is easier to understand.
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e .
o g
-
-

2’5;;,3 (mabniy-un)

LESSON 5

‘that which has been built’ for Cg ji:fa (mabniiy-un).

Here the waw of a2 has been changed to vi . Here is another example:
 gRRA g . P

o - 8 ° °
(S $801 (S 0 ZS)*"W/‘ (mashwiy-un) ‘grilled’ for &)}&3 (mashwiiy-un) 4.

(Lalxs ~)

(éﬁ\w" z)

Sl ISr.

p w
o] T
et

L-25 g Slal

vlw“

Oy o) %

institute (j,S/ fa C) jif}a
syllabus o}c«,\)\ g/)j;.vd }Sj_p

card U L>-;;

(é@g) Gl

free (without payment)

sold goods g\_é,U\ Jl

conference

’\y A s %u;j\ ‘5\; ’/ .

non-native speakers of o i 3

Arabic Ol C) ¥
2 .

to lean (a-i) C)V j,:aJ Oles

2 4\

to escape (a-u) g j,\.ﬁ ry
w0 }E - S

to cure, heal o }.15\ /._é_,‘_;j

to fluctuate, vary (vi) :.yy}a

o~ T T I
to greet withvggl.c %M\ (11) JJ}}? O 5

to have illicit sex (a-i) Lw

centre

centre for da‘wah
affairs

travel

commodity

until we meet
again! au revoir!

to obtain (a-u)
secret

to protect (a-u)

to reproach, blame
(a-u)

to take the
opportunity (viii)

spaciousness

to call to prayer
(ii)

one’s kith and kin

welcome (originally meaning: you are with your own kith and kin,
you are on level ground on which you can proceed with your journey
without difficulty and there is enough room in my tent for your stay).

visitor , ( ,,o}.e C) w)ﬁ

! S e e - . . = b S E =
" The verb (s si3 (S5 is lafif magrin, but this rule is common to ndyis va 't and lufif magriin.
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» A )f‘e o “ il P’ >
(c,;q d ) 45w copy ( J:};B& C) 1},.95-:.2 lecturer
N L I .
2 & purchase )54 auction
2 =f '”‘.i . o & ¢ original form (of a
(D955 a ) OL:  matter, affair J.,:\ word)
- . 1_*1; native speakers of By = -
c\.q /.ij J }AEU\ Arabic J.,\,: to go astray (a-1)
PN s .o % hollow, (gr) a verb with waw Ao 20 ) .
(J/D*— C) Jﬁ? \ or va ' as the second radical G A s to forgive (a-u)
- - “i W . ) .
(UM d ) 4o present, gift 9.;- e \;— ; tohope (a-u)
e ;:5\ 4 - oo ju Sl .\ 2 -_ - May safety be your companion while you
< J J.>=. ;53 —==72" stay and while you travel!

:}t,«ﬂg. J Lo to flow (a-i) — =2 toaccompany (i-a)

to ask permission

2 L& to suspect, doubt (a-u) ):) Sace O ;Lﬁv\ x)

S onl - Tngl toO take the opportunity By o
i i) s (viii) Je

@ @ . .
. ol -1 t t If, get e o iod of ti
i ,!,) 3 ,.~] i LH \ o acquaint oneself, ge (J.,\; C) 57, Pperiod of time,

soft, level ground

information (viii) duration
. . - w “w o \
uu\ 3 jlﬁ ;[1(; knock at the door (a 3 }Ja Knock
.o - .. togive someone -
2 ™ something to drink (a-i) Sl cup-bearer
W . " 8 E] 2R e
( :,,4...» a ) dv2o egg (SLs (OBS d ) L& youth, young man
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LESSON 6

LESSON 6

o

In this lesson we learn the formation of the nouns of place and time O La;‘\. s O Ll
Both have the same form which is either 'wa; (mafl*al-un) or }m» (mafl*il-un), e.g.:

,x\e ‘time/place of playing’

2 sSs “time/place of writing’

A ‘time/place of cooking’
o s ‘time/place of the setting (of the sun)’
ﬁ,wu ‘time/place of the rising (of the sun)’

It is on the pattern of }\,xh (maf*al-un) in the following cases:

a) if the verb is ndqis irrespective of the vowel of the second radical, e.g.:
Sg i 5w ‘course’
j.é_l; : \.@.5 ¢ls “‘place of entertainment’

b) if the second radical of a non-ndyis has fathah or dammah in the muddri’, e.g.:

° - =]

B g - W
Cali: A Sl ‘playground’

2 ° Pe >

T . - o ¥ . % ¢ 5 o 5

SR o s drinking place
s 20 P e T .
J:'—-a\.g : J:-J R ‘entrance’

PR ¢

. A . /, - ‘ 13 : b

2 L P Fen kitchen

It is on the pattern of Lﬂu (mat*il-un) in the following cases:

a) if the verb is mithdl irrespective of the vowel of its second radical, e.g.:

-
PR

B, e S ] .0
AR A0 A8 g0 ‘car-park’

- -

ak éﬁj Lm 250 ‘place’

b) if the second radical of a non-mithdl, non-ndqis verb has kasrah in the muddari’, e.g.:

2 o - 12 g | Caitts >
u«.l.?;“: . &M.l:- ¥ ke sitting-room
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LLESSON 6
J5 U3

A ta marbiitah (8) may be added to both the patterns, e.g.:
(TP
4 5@ ‘position’

‘Lw}..\; ‘school’.

&=
&j-d <S¢
W ST 2o
g, 9%~ _ ~
S PF
Gur @
&P
j_Q_,o

3 w
AR
R

& @

8 ;&» ‘place of getting down’. (1)

to amuse oneself, play

(a-u)

to seek refuge (a-i1)

to sleep (a-a)

to stay (a-1)

to walk between Safa and
Marwah (a-a)

to display, exhibit (a-i)

to settle down, abide (a-1)

residence, place of work,
headquarters

crowd, traffic jam
to eat (i-a)
to banish, deport (a-1)

to take down a load (a-u)

to facilitate, make a difficult

task easy (ii)

$aly ol

>

Chlas & jlas z) (e

D yhay sl O3
by I i)
s> g is)

I ]

rvv’ru:\\/g

car park
railway station
bank
participant
tour, trip

you must go
greeting

ready

to call (iii)

to take refuge
(a-a)

train

to go round the
Ka‘bah. (a-u)

to meet (viii)

one who
facilitates

f e - TR TR 3. o .
: Exceptions to this rule are: J>ecus from J.;w > O s from dj,.::.g, < & from :)j.z:g According to the rule these

should have been on the pattern of matal.
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LESSON 7

LESSON 7

In this lesson we learn the formation of the noun of instrument AN A

Vw,‘,d +
It denotes the instrument for the action denoted by the verb, e.g.:
égé ‘he opened’ .: Lide ‘an instrument for opening’, i.e., a key.
3 o
<! ) ‘he saw’ ol e ‘an instrument for seeing’ i.e., a mirror.
d;j ‘he weighed’ Ol s ‘b “an instrument for weighing’, i.e., a balance.

']

There are three patterns of £/ Y| | .|, These are:

2

a) \xas (miftal-un), e.g.:

3 Lice ‘a saw’ (5 he sawed)

o) =+ ‘aplough’ (:9}; he ploughed)
b) Agxﬂw (mif*al-un), e.g.:

3%

\w2s  calift (Qee he ascended)
\,,,w« ‘a drill’ (g,.g“ he drilled)
c) :\buu (mif*alat-un), e.g.:
Z.L».Zg,g ‘a broom’ (QM./:_? he swept)
%’)’C&ﬁ ‘a frying pan’ (originally ?\;1}15 from ujé he fried)

” o a8 © -
w| - . o e I - . £*)
8 j.§,3 ‘an iron’ (originally 4 jﬁ,ﬁ from (¢ j_f he ironed) .

' Note that l{s‘.ﬁ,_» is originally 550 (miwzan — mizan). Arabic phonetic system does not admit of the iw combination.
Wherever this combination occurs it is changed to 1, i.e., the w is omitted and i gets a compensatory lengthening.

It should be noted that words like E\}_B(,g, %‘)&E,g are on the pattern of mif*alat-un and not mif*il. According to the Arabic
phonetic system the combination aya and awa are changed to @, so miglayat-un<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>